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Algebra I Unit 3 Intercepts

ey

* The x-intercept, zero of a function, is the point where a graph crosses ar Imiersects tne

— . -
- The y-intercept is the point where a graph crosses or intersects the

Find the xand y-intercepts of each graph. Be sure to write each as an ordered pair.

Gso) - 1

Find the x- and y-ntercepts and the slope from the table of values or the chn_o:

@?«GS a Jocﬁ Sz (0sm)

5. 6. 7.

x.iﬂmﬂnmnng—ﬁ zero: m. ~

<._3m8mowﬁ0—® y- 5~Q82A-O—6V y-| _:nm_.MmWH ﬁ.a —J

Rate of Change: ] ~ .m_.u _ 2
.IM. Slope: ,Ilm. m= =5 = \wn

) 3

)

Algebra I Unit 3 Intercepts

9. The volleyball team is traveling to a game 120 miles away. Their average speed is 40 mph. The
graphed line describes the distance left to travel at any time during the trip.

What is the x-intercept of this function? A @ v

What does the x-intercept represent?

+fim £ i Yook 1o g

What is the y-intercept for this function? ﬁo I ’NOV

What does the y-intercept represent?

They S4avied \Zomies

g
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10. Find the x-intercept and the y-intercept, then graph problems “a” and “b" using the intercepts.

1
—x-2y=-4
a) o)

NHoY S x=0 .
SO covev vp x!

X=1nt > =0 .. o:@.(?
x-intercapt_\r @8 — hlw i O U\XJ@\.\(*

\ 2- $%=-Y7

y-intercept ﬁb i N_
_ X=-8

a)

2

12345678

-8-7-6-5-4-3-T=

b} -4y =3x-12
U= Ay t3xAz
-2,

\Nlll

o (1 10)

b)
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